AddaRin

1. Which test is used for low workable concrete ?
(A) Vee-Beetest (B)  Slump test (©  Compaction factor test
(D) Flow te}ble test (E)  Question notattempted
9 FEE hehle % T S T Tl sudn fen s 2
@) H-h T B) o TR ©  heier et whe
(D) Rl A e (B) TaRaue

2. A well seasoned timber may contain moisture upto: )
(&) 4% to6% (B)  10% to 12% © 8%to10%
D) 6%to8% (E)  Questionnot attempted
T ST T Y T T et & o e w2
A) 4% 6% (B) 10% ¥12% © 8%W10%
D) 6%A8% ) SATaa T

3.  Ifthemomentof inertia about the base of a rectangular section (b X h) is M, and that of a triangular section (base
‘b” and height ‘h’) is My, then ratio of M; to M, will be : ;
af T TR EE (b x h) ¥ SHR 3 TR Y STea g M, § iR i s (smum ‘b’ sk e ‘h') F AR A
STedt ¥gfa M, 8, @ M; § M, T 319 81
@ 6:1 ®) 2:1 © 3:1
O 4:1 (E)  Question not attempted/ ﬂaﬁﬁﬂ T
4, The infiltration capacity : a
. (A) isthe maximum rate at which water enters thesml
(B) is the rate at which water actually enters thésox]
(©) istherate of rainfall above which the rainfall volume equals the run off volume.
| (D) remains constant through out of the storm. =9
() Question notattempted 3
AT &HAT ¢ ' -
(A) T s <) & o R fagh # waw s ¢
@B %Y ford W ars ¥ g # g & R
© 5t it 7% 2T ¥ Foreh SOl it qE Yafed " % SR gt ¥l
D) T % A o feer el &

() ARG T

5. The best method of applying water to sandy undulating area is:

(A) sprinkler irrigation (B) freefflquing (©) subirrigation
(D) furrow method (E) Questionnotattempted

WS TrewER & H T T o T e faft g .

@) e B HFIE © SusE

@ T fafa E) FIREATA

The Poisson's ratio in terms of bulk modulus (k) andmodulus of rigidity (c) can be expressed as :

6.
ofer TTIT (k) ST FHOrl A (c) ?Wﬁq@ammwmm%mm% :
[3k — 2¢) [3k=—4c) [3k + 4c)
(A) [6k + 2c] (®) [6k + 4c] © [6k — 4c]
L3_]<—+2’c) (E)  Question notattempted/ STTRA T¥H

D) [6k — 2¢]
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10.

11.

12.

A flow netcan be used for which of the following purpose ?

Determination of seepage, seepage pressure and hydrostatlc pressure.

Determination of liquid limit and plastic hmzt

© Determination of buoyant force.

) Determination of soil particle size.

1) Question not attempted

q@%mmﬁﬂﬁf@aﬁﬁmwﬁmmmmﬁ

@) ﬁmaﬁmamaﬂﬁ@%mmﬁuml

@® I iR enfies i @ i

(C) IATEA 5 Bl fAUion) .
&1 0T ST 1 Fafor | "

(E) Al ¥

The deflection of the free end of a cantilever beam of length 'L’ carrying a concentrated load ‘2P’ at the free end is

given by:
gaaﬁﬁ;a#i‘aaw 2p’ WﬁWW‘L'ﬁ@%ﬁaﬁmaﬁu%gﬁ@mﬁW@m
T St

®)
®)

2 2 3

4P°L 2PL 2PL

A) 8= —— 8= —— = ———

©) 3EI ® = © 3EI
4?2 -

D) d= = (E) Quesumfzaot attempted / ST T

|l!1 ﬂ‘

..‘

The A-line in the casagrande’s plasticity chart (uscs) for fo fme grained soil has the equation :
e T e Tt ¥ fom el ¥ efefd = () # T TG T THIH € ©

(&) Ip=093(W—20) ® Ip=0B3W,-22) (O Ip=065(W, -2
D) Ip=0.73(Wy—20) (E)  Questiorrnot attempted/ SR T

Thickened part of the flat slab over its supporting column is known as :

(A) Beam head and panel (B) Columnhead (© Drop panel

(E)  Question notattempted

(D) Capital

Y T T ¥ S T W 1 A fewa 39 AW & S S e

A) "R SR AT B) T © Tuiw

O) e B ogaE T

In which of the following months is the Shilpgram Utsav organised every year in Rajasthan ?
(A) March (B)  October © January

(E) Question iriot attempted

(D) December

o § frequm Soe & 9 fohd wén | mm%gw%7

(&) B) SRR~ © =

O) feEer E) aqaaﬁ?rwr

The 74™ Amendment Act of 1992 has added which partto the constitution of India entitled as “The Municipalities’ ?
(A) Part-IX-A (B) Part-8. — (© Part-8A

(D) Part-IX (B) Quesuon fiot attempted

1992 % 743 Wyirer sfuftm 3 g & wfaer § TRders ' TH HI | 9 Sie % ?

(A) HI-IX-A (B) Wr-8 © vrm-8A

(D) m-IX _ (B) TARd 9
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13.  Which of the following fort is also known as ‘Garh Bithali’?

:g; La:;rgafh Fort (B) Siwana Fort (© NahargarhFort
angarh Fort (15)]
frafafea o ﬁﬁ:‘h 1 foren g farsett’ m%?ggg?;pm
(&) TR ® e e e fehett
D) e b ) eRa v ©
14 G d H h 1
T T
(D) Ghaghar Question not attempted
TR 3R s Qﬂﬂﬁ?ﬁﬁﬂﬁﬂiﬁﬂﬁﬁhﬁﬁw%?
@) TR ® T © R
(D) Hm ® SRS
15.  Which of the following region is not associated w_lﬂ__{jum river basin ?
(A) Churu (B)  Ajmer : © Pali
(D) Sirohi (E)  Question not attempted
frfafea 9 @ = 0 &7 ¢ 7 IR @ gefm S
@ T ®) IR © el
O) fadd € oRa A
16.  Correction for pull or tension in a tape is given as :
29 ¥ fgam@ a1 9 w1 gER FR R ?
L P- P,)L _ (P Bo)
A e e — = 0 = —"
@ Cp A (P- 7)) (B) CP_—i'—T © ¢cp LAE
(D) Cp = (P- P, )AE ® Que;;_orn not attempted / FTARA T
L =

17. Permeability of soil is : g
(A) Directly proportional to Square of grain sme: (B) Inversely proportional to square of grain size.

(© Inversely proportional to grain size. ID) Directly proportional to grain size.

(E) Questionnotattempted €

gt =0t arer

(A) N F SATHR F 7 & FEALIH et ¢ | (B) U % AFHR F T & Heharud Bt )
(©) hUIl o SR h FSHAII Bl ¢ | (D) U % SHR F T Bt T

E) SHAE A

18.  Which one of the following statement is correct ?
(A) Bending moment is the first derivative of shear force.
(B) Load intensity on a beam is first derivative @ﬁndmg moment.
(©)  Shearforceis first derivative of bending moment.
(D) Shear force s first derivative of intensity of load.
(B) Questionnotattempted
rerferfaa 3 & T T o w2 -
(A) S SO FATETO TR HT TEAM A
B) aﬁnmmaﬁmmmmmwﬁ
© AT A FHA MUl T RN FEA B
(D) ST T W AT A H T e I

) S T
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19.

20.

21.

22,

23.

Which of the following scale is the smallest one ?

(A) lcm=10km B) 1cm=10m (© R.F.=1/5000

D) 1:10,000 (E)  Question not attempted

frtfefas & ¥ B @1 YA w1 77

@) 13 = 10 R (B) © T = 1/5000
(D) 1:10,000 E)

Flow mass curve is also known as :

(A) ° Hyetograph (B) (© Hydrograph
(D) Ripple diagram () Questionnot attempted

T FEH TF B AN A FAMAAME

(a) TETE B) WA - © IS
@) fow e () R e

At the liquid limit :

(A) thesoil is not fully saturated.

(B) theshearing strength of soil is zero.

(© theshearing strength is small but definite.
(D) the soil is plastic and can be easily moulded.
() Questionnot attempted

T W :

(a) Tug ol dga & 2

® Tg i Foch ahE AT |

© A v B afe ffve 2 -
D) firgh e oY At ¥ iR TR S W g ST weha ¢
()  STIAE T ’

A cantilever beam of length 'L'is loaded by a h'ari:s,\gé;se load varying linearly from W), at fixed end and zero at free

end. The shear at L/2 of the beam is :
e L' 1 T hieeiat stH WTH ATIE T STl ST & S Tee i R W, & e et P o 1 ook e &9

ST T &1 SHH L/2 WITEI R

L L 12
s Wph — —
@ Wog ® Wog © W
L2
O W, v E) Queftion not attempted / ST T

Which one of the following is the appropriate tri-axial test to assess the immediate stability of an unloading
problem, such as an excavation of clay slope ? = :

(A) Unconsolidated drained tests  (B) CU’Ik_est (© UUTest

(D) CDTest E) Qﬁggg:ion not attempted
ﬁ@%gﬂnﬁ@éﬁw@maﬁm.ﬁaﬂwmw&mﬁmﬁﬁaﬁﬁﬁﬁmw
r-o7efia qleror & 2 *J

(A) 3T St Fenre e ® g © g7 Tl

(D) @ St vy () ARG TH
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24.  Accidental errors are proportional to :

(Where 'n' is number of observations made)

SR FfeAt 11 % o dret &

(Sl ‘n’ fordl T Sl =) ger B)

(A) 1\/; B n | @
o 1 s | (E)  Question not attempted / TR T

25. Inaone way slab the minimum reinforcement (Fe-250) recommended to be provided in each direction is:

@mﬁaﬁmﬁmﬁwwm(@so)mmm%:

(A) 0.08% B) 012% © 0.15%
D) 0.04% (E)  Questionnot attempted / STTARA T

26. Which of the following methods of irrigation may be encouraged in agriculture in Rajasthan for water
conservation ?

Choose the most appropriate answer from the options given below.

(A) Welllrrigation Method (B)  Sprinkler Method (©  PondIrrigation Method
(D) Tubewell Irrigation Method (E)  Question notattempted
Wﬁwﬁmm%mﬁmﬁmmm@mmw el & ?

A e T fohedl O Wl swm w1
A) e fa fafy ®) feimer fafy © o fe fafy
() ZpEEs i fafy (B) SR e
27.  Which of the following is not associated with the formation of ‘Rajasthan Sewa Sangh’?
(A) Haribhai Kinkar (B)  Vijay Singh Pathik (© Ramnarayan Chaudhary
(D) Chandkaran Sharda ()  Question notattempted
fraferfra 3 & i ‘o Yo W’ 3 et & T T & 2
(A wfor R ®) foom fie ufves ©  THARE e
(D) <EHT AR (F) oTfaRa g

28.  Which of the following places is not connected via NH-80 which starts from NH-52 near Kothum and merges
with NH-44 at Dhaulpur in Rajasthan (as per NH Act, 1956) ?

(A) Karauli (B) Lalsot (© Kishangarh
(D) Bari (B)  Questionnot attempted

frretferfam & & 1 91 T TITE-80 & S g1 T 8, S TTCS-52 3 U e | Y 2 33 e 3
¥ wua44 I et ST ® (T o iU, 1956 % STIER) 2 o

@A) (B) WwEEE © frre
O . B HIEE I
29. Who among the following is the Padma Vibhusﬁgréwardee from Rajasthan ?
(A) Dr. Mohan Sinha Mehta (B)  ShriJagat Singh Mehta (©  Shri Anil Bordia
(D) ShriJagat Sinha (E)  Question not attempted
ﬁﬂmﬁﬁmﬁwﬁwwﬁwaﬁﬂﬁ?
(A) . Hred faw dea @) o s fie we © st sfre
©) & s e )  SERa T A
\/ G-161 | 6
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30. Atthestatelevel, the Election Commission is assisted by the :-
(A) State Information Commissioner B)  Chief Election Commissioner
(©  Chief Electoral Officer (D)  Chief Minister
(E) Questionnotattempted
T TR W, A1 3 it Frefafae g gemea TS S -

A) T G g ®) T& T IR
© 9= frataa sifuerd (D) FEEs
B IR THA

31. The coefﬁcient.of permeability (k) is related to the void ratio (e) as under :
TRTI H TO (K) ¥ ST Y (e) Frrgam deifemt

3 : S
@& ke li . B kxe © k=x1/e
D) k« ¢ (B) Question notattempted/ STARA 99
32. Aschedule of rates for all items of works is maintained in a printed book known as :
(A) Standard price list book (B) Standard rate book © Schedule book
(D)  Schedule of rate book (E) Questionnotattempted
ot et 3 fore 0 o ST U afed T § Wl S ¥, R 59 Yo ST S
(&) T e G g ®) Weasﬁw © oI g
D) Rt g
33. Punching shear phenomena is mostly related to: :
(A) isolated trapezoidal footing (B) combmedfoobng (©) isolated rectangular footing
(D) isolated square footing (E) Questl@ \not attempted
fogur el ve SR deifm € B
(A) T THCTEIRR SER (B) HIH MR © YU AR 3UR
D) e @t B B SEAREH |
34, Ifaline is drawn between points (1, 5) and (-3, 5), then its absolute length would be :
(A) Two units . (B) Three units (© Four units
(D) Five units (E)  Questionnotattempted
afk fig (1,5) 3 (-3, 5) % wft= T @ Ei S, A Tt 0 e qe
@) 2 gl @B A © TR
@) e (B) STIART A
35.  If lines of actions of forces in a system of force meet at a; point then these forces are called :
(A)  Concurrentforce (B) Parallel 1 f ‘_f:e (O Non-concurrent force
(D)  Resultant force (E) Questionnotattempted
W&mwﬁﬁa@ﬁ%@mwﬁgmﬁaﬁ% ﬁsﬁaﬁﬁmm%
&)  wfed s @) A ©  orEed s
(D)  aftomt s B) aﬁ“ﬁﬁi’“

36.  Asoil has a bulk density of 22 kN/m 3 and water content10%. The dry density of soil is :
T Hg o v S 22 kKN/m® aﬂxwaﬁmm%%lﬁgﬁmwmé :
@A) 22kN/m® B) 18.6kN/ m’ © 232kN/m’
O) 20kN/m’ (E)  Questionnotattempted/ G ONIEGRAE
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37.

38.

39.

40.

41.

Which of the following cement compounds is mainly responsible for Initial setting Time of cement ?

(A) Tetra calcium Aluminate (B)  Tri calcium silicate (C) Tri-calcium Aluminate

(D) Di-calcium silicate ()  Questiorrnot attempted

ﬁmﬁrﬁaafr@#mﬁﬁzﬁﬁmg&wﬁ“@ﬁz%ﬁw@ﬁnw"%ﬁqﬁﬁﬂ%’

@A) 3 e Tt B w¥fmmfare (- e
(D) TR-ShicwEm fafase E) oTuRa 9.

In the heel slab and toe slab of a cantilever retaining wall, main reinforcement is provided at:
(A)  Atbottom in heel slab and top in toe slab
(B)  Attop in heelslab and toe slab £ 4
(© Atbottominheelslaband toeslab -
(D) At top in heel slab and bottom in toe slab
Question not attempted

, %ﬁaﬁmﬁ%ﬁnﬂaﬂ%@lﬁa AR A Ve F, To g wo foran < §

(A) @%ﬁaﬁwﬁﬁ%sﬁkﬁx#a@%@aﬁmw
B) TS R IR REH el W § v w

© & wEANRH AR DN F v A

D) mw@%@\aﬁaﬂ'{ﬁ%ﬁ?%wﬁﬁﬁaﬁ

€ SIIERA TS

Which one of the following kilns is not a continuous kila 2

(A) Intermittentkiln (B)  Bull's trench kiln (© Hoffman’s kiln
(D) Tunnel’s kiln (E)  Questionnotattempted

frefefan & 4 S W ug P g @ 22 Lo

(4) STt g ® FTWETE © W g
O) =@ g B) . |

For a channel section, with its axis of symmetry hor1zontal the shear centre lies at :
(A)  Atthe centroid of the section

(B)  Outside the section

(© Inside the section

(D)  Thejunction of the axis of symmetry and centre line of web

(BE) Question notattempted '

Toh e ST 3 fer, forrent T i 4 & g, Wﬁwﬁm%
(A) IR FEh T -

(B)  3TTHN % S

© I H HT

(D) THEY H YU AT F Fg F FRH T

B)  SIERA wT

Who was the Chairman of the Committee on Budgetary. Reform in Municipal Administration in 1974 ?
(A)  JohnMatthai ) KN.Sahaya © AP.Jain

(D) Girijapati Mukharji ()  Questionnotattempted

1974 H ROt FAra" & srotdte gur qfifq & sreae ik 92

(A) i AT B) T WM © THIH

o) Ty gast E) TR

\/ G-161 8
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42.  Inwhich of the following stage of Rajasthan integration ‘Matasya Sangh’ merged with Vrihat Rajasthan ?

(a) SixthStage (B) Third Stage (© FourthStage
(D) FifthStage ] (E) Questionnotattempted
o 3 Frafetaa 3 @ fora s § wee 99 91 989 T ¥ foea gen ?
@) FIAT ® T © <=
@ ® SR
43, Statementl: The chairperson and members of a State Human Rights Commission are appointed by the
Chief Minister. s
Statement 2 : The chairperson and members 6f a State Human Rights Commission can be removed by the

governor. £
In the light of the above statements, choose the mos%a];pmpﬁate answer from the options given below.
(A) Statement1is false but Statement 2 is true. ‘
(B) BothStatement1 and Statement 2 are true.
(O Both Statement 1 and Statement 2 are false.
(D) Statement 1is true but Statement 2 is false.
() Questionnotattempted
FET1: T AFGIYSR SR % 1eae ik el i frgfe qest g/ &t vt 21
FUT2: T HACIYHR SERT F oA AR G 1 Toq9rel gRI TR ST Hehell ¢ |
I HYAI & 3Tl A, e fxe T foredl § @ wald suge WA |
A) HYT 1 FTA ] AR HAT2 TA 2L 2
(B) ®ET1ARBAT2 A TA
© YT 1 ANHUT 2 I A €
D) U 1 TH T AT HUT 2 FTHA L )

® oA

44. Kho-Dariba, located in Alwar area of Rajasthan is fja;;_p_qus for which of the following minerals ?
Choose the most appropriate answer from the following options.

(A) Silver (B) Manganese (© Copper
(D) Tungsten (E)  Question notattempted

T ¥ STerer 8§ feera @-gdan frfafea § ¥ e afe & fg afes €2
Frafafaa frsedl § ¥ HaW STgad ST |

@) =i ® HE ©
O I € AT

45.  Which of the following is not a method of prevention of desertification ?
Choose the most appropriate answer from the options given below.
(A) Discourage plantation on sandy soil to avoid water loss.
(B) Prevention of expansion of desert to eastern i_%;_a]asthan by green belt.
(©  Extensive social forestry and agro forestry oﬂgiafﬂi tree varieties.
(D) Complete ban on cutting of plant varieties suitable for water and soil conservation.
()  Question notattempted

frefafiad 8§ Q -1 el F Jeur i T € ?

e R e forpedt § A WO SO SR |

A) T T % foe el figt W gRRTUER-gdleed HT
B) eRa v gr qat Trorear ¥ el 3 o A |

© i ga il ) ST A S SR i |

(D) mﬁw@mﬁmmwﬁﬁpﬁaﬁmw@mm
E) STuRa T
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47.

48.

49,

50.

51.

52.

53.

The difference between the two reading of the Le-chatelier apparatus should not exceed :

@ ®) 4mm © 5mm
2 Inin .
RT3 4 o e i o8

@) 15 firf ®) 4 flt © s fl
@) 9.5 frdt B uRa v

For fhe desi'gn of retaining walls, the minimum f&c{ér of safety against ‘overturning ' is taken as:

R Rt 3 ST 3 e, Tz s el gt o o s 61 e ot e

(A) 3.0 B) 15 = © 20

D) 25 (E)  Question notattempted/ 3TARA T

R.L.of aroom floor is 100 m. Staff reading on floor is 1.750 m and staff reading when the staff is held inverted with
its bottom touching the bottom of the room slab Bi} 35 m. Find the height of the room above the floor.

T % R T R L. 100 X | Sraifittr w2 9 Afe 1.750 werd si s vfed W 1 R 6 e e
et g U 32 T S R eife w2 A 1,35 e d 1w SR AR F S 0@ B

(A) 32m B) 3m © 35m

D) 31m (E)  Question not attempted/ Wﬁﬁ A

If Fore bearing of a line is S 49°52'F (assuming there is no local attraction), the back bearing of the line will be :

;ﬁﬁmwﬁ“wmﬁ"sw%zﬁ%(%W@ﬁ@éwﬁaa@@mﬁ%xﬁwﬂﬁ“ﬁ?ﬁﬁﬁm”
A) N 452w B) S52°49F © S49°52E

(D) N 49°08'E (E)  Question not attempted / TR T

If the cost of work is more than Rs. 2 lakhs then the-work is said to be :

(A)  Complimentary work (B)  Majorwork (©  Minor work
(D)  Petty work ()  Questionnot attempted

aﬁwﬁ;’;a 2 G ¥4 | Sfees § O wE T e s

® T ® FEEH w

Sl b "Rk ©

The process of determining the location of the s@%m (on the map) occupied by the plane table is :
(A) Traversing (B) Intersection (© Two-point Problem
(D)  Resection (E)  Questionnot attempted

T 28 R Feell fohy T WA (AHfEA W) % v w1 i w0 % ufen

A) ‘sEfdn (B) TR © -fog wwen
@) e () STuRa v

Which of the following soils has more plasticity index ?

(A) Gravel (B) Sand © silt

(D) Clay (E)  Question not attempted

Frefafead # @ frm gt § wnfiefad qusis afim g ?

(a) == ® W- . ©

O fet B  STERd W

Side face reinforcement is required in the beam V\;’ITZE depth of beam is :

(A) greater than 750 mm (B) gré__:&f”{:r than 450 mm (©  greater than 500 mm
(D) greater than 600 mm (E)  Question notattempted

@) 750 it @ stfer (B) 450 Tt @ sifer © 500 feft & arfres
D) 600 firelt & rfers ) ARG we

\/ G-161 10
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54,

55.

56.

57.

58.

59.

GET IT ON
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Which of the following is a non-recording raingauge used for the measurement of rainfall ?

(A) Tipping bucket raingauge (B)  Float type raingauge

(O  Weighing bucket raingauge (D) Symon’s raingauge

(E Question not attempted

e 8 Q B W IR-Repffén autardt ¥ forgem g oo "R 3 feg foran s & 2
@) iRz wiw (B) T THR I TR

© AR (D) .. T 1

B ST T -

Which command is used to divide the object into segments having predefined length ?
(A) Divide (B)  Chamfer (© Trim
(D) Measure (E) - Question notattempted

TEfa T o1l Sl § sy i fwfe et & T s o e Suei fopan w8 2
&) frsE B TR S © f=
O ¥ (B) R v

Which of the following is not the main feature of Rajasthan climate ?

Choose the most appropriate answer from the following options.

(A) Summer season during March tomid June  (B)  Uniform distribution of rain

(© Maximum rain between June toSeptember (D)  Dominance of dry and semi-dry climate
(E)  Questionnotattempted '

frfafad § ¥ S o TRy it Seerg #t ge foRd @) @ ?

= fXw e fosmedl # ¥ wel Suged WA |
(A) TE ¥ HE ST % WE W g —B) T H THEAA fam
© 9 fader & e sifuepay i £ (D) W 3TN 3T ey TS

In which of the following time period did the culturalrévival of Rajasthan start during ‘Maharana Kumbha’s rule’ ?
Choose the most appropriate answer from the (g)tf ns:given below.

() 17% Century ® 8" Century © 15T Century

@) 13%Century (E) Ques jon not attempted

o

ﬁwﬁr@aﬁﬁﬁqmWuﬁmmmiwm‘mwﬁim#%ﬁmg{agam
= fu T foenedl § ¥ wa@ ST S A |

@) 173 v ® &ff vt C(© 5T IR
©O) 13 vt (B) AgaRa qeH

Based on fire pit theory, James Tod proposed foreign origin of Rajputs from which of the following ?
(A) Afghans (B) Turks (©  Scythians

(D)  Yueh-chi (E) Questionnotattempted

e fagia & MR T Iy ofe 3 TgE kit foReht scaft e frefated # 9 fred feran ?
(A) T ® T © e

©) F&-R € STIEE T

Which of the following National Park of Rajasthan has been included in the World Heritage List ?

Choose the most appropriate answer from the following options.

(A) Sariska National Park (B) RanthamboreNationalPark ()  Keoladeo National Park
(D) Mukundra Hills Sanctuary ®) Question not attempted

TRYF % Frefirfiad § @ fra Uiia 3 i favd sde =1 # wfe fofen = &2

frfafan famedi § ¥ wa@ Suged S | T
(A)  ufw i S B) TR TEE e © FacRa T A
D) TF feew THARTA () SATARE T |
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60. Which of the following is not an irrigation and drin k. ing/water supply dam in Rajasthan ?
(4)  Ram Garh dam (B)  Goyaka Prasad Dam ©  Piplad Dam
(D) HamjaKheri Dam B)  Questi

A o stion not attempted

ﬁﬁﬁf@ﬂﬁﬁﬁﬂ-—rmﬂwﬁm 3R eroret sremgfe iy T 2 2
@L 3T 7ig s B i R iy © oo s
(D).} & S iy )  rFaRa we

61. The sﬁbmerged density of soil in terms of unit weight of water r,,, specific gravity G and voids ratio e is given by
theexpression : - & w P =
T T W, fafire Toe G ﬁ?ﬁaﬂwmeiﬁ?ﬁﬁﬁ@mwmaﬂwﬁaﬁﬂmﬁmw
(A) w (G - 1) ®) w (G + 1) rw (G - 1)

1+ e 1+ e © 1-e
rw (G + 1) '

(D) 1-e (E)  Question not attempted / 3TART J&

62.  The time period that elapses from the instant of sowing to the instant of harvesting is called :
(A)  Growth Period (B)  Crop period (©)  Rotation period
(D) Base Period : (E)  Question not attempted .
TS &0 Foerd & &0 O Y o7 Y e 1
(&)~ Ffs smafy B) wEw ey © g ey
(D) TR 3Fafy | (B) FHRa T

63. A-column of length ‘L’ is fixed at both ends. The effective length of this column under buckling will be
givenby :
@@W‘L’ﬁaﬁmwﬁmww%wﬁh%mwﬁmﬁwﬁﬁaﬁwmﬁw :
&) 4L B L/2 © L
O LL ()  Question notattempted/ SR W¥A

64.  Which one of the following, gives the correct decreasing order of the densities of a soil sample ?
A)  Bulk, Saturated, Submerged, D Saturated, Submerged, Bulk,

ged, Dry 8 Dry

(© Saturated, Bulk, Submerged, Dry (D)  Saturated, Bulk, Dry, Submerged
(B)  Question not attempted
frefafiad | @ 31 @, fagt & T & o9 1 9E v HE e ?
A) o, Tqw, e, gEl B) I, T, O, g
© T, o, e, @ D) Eqw, o, @, S@w
(B) AR I

65. To control the deflection in limit state the basic values of span to effective depth ratio (AsperIS:456: 2000) for
simply supported and continuous beam are kepton :
(A)  20and 7 respectively (B) 20and26respectively (C) 7and?20 respectively
(D) 26 and 20 respectively (E)  Question not attempted
i ferfa 7 faamo 1 frifm w03 & fog, T wEfa o PR ftw & fon gt e s
(IS : 456 : 2000 % FTHR) F Fei Fei T Tl ST & :
(A) SHEE: 20 37 (B)  THA: 20 3R 26 © w7 3k 20
(D) FE: 26 320 (B) ST

WV G-161 12
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66. The fund for rebuilding a structure when its economic life is over is termed as :

(A) salvage value fund (B) maintenance fund (©  sinking fund
(D)  scrap value fund (B) Questionnotattempted
forelt T T ST Sfta I AN W Sw AT 3 ferg fafi e ST €
(a) T A ®) v fify © e i
O AEES ® eHra
67. Ifacantilever beam of span ‘L' and flexural rigidity 'EI' carries a moment M at the free end, the deflection at that
endis:
2fx e L' SR et e ‘Bl m@%ﬁaﬂmﬁn%@tmmw@mmm% & 5w IR
ferdraw § : | ' ‘
2 2 2
Ml =Ml Ml
@ T umE ® " m © -75m
1> -
D) - GEL (E)  Question not attempted/ 3ATTRE T8

68. The following consecutive readings were taken with a dumpy level :
© 0.69, 1.525, 2.395, 0.635, 0.605, 0.805, 0.125
The instrument was shifted after the third and fifth readings. The readings 2.395 and 0.635 respectively represent :
Where, F.S. is foresight, B.S. is backsight and I.S. is intermediate sight.

(A) I1S.andBS. (B) :ES.andBS. (O FS.andIS.
(D) BS.andES. (B :ngsuon not attempted

0.69, 1.525, 2.395, 0.635, 0.605, 0.805,0.125 = =
?ﬁ%ﬁaﬁwﬁéﬂf@%aﬁmﬁmﬁﬁmwmﬁnm 2395 31X 0.635 T & :

v, ES. 3 %t g ¥, B.S. W9 i gfe § siiwls, wemed gfe €1

(A) 1S.3MRBS. B) ES.¥RBS. (© FS. RIS
O) BS.3RES. E) ?ﬂf'ﬁ“ T ‘
69. A trapezoid has two parallel sides of 1 m and 2m. The height of this trapezoid is 1 m. Determine the area of the
trapezoid.
T G S Y <) AR e 1w 32 ¥ | 5w g SR 17 ) e S e
EEIELY i
@A) 3m? ® 12m’ © 15m
D) 2 m? (E)  Questionnotattempted/ AR W
70.  Which of the following is a statically determinate structure ?
(A) Two hinged arches (B) _Propped cantilever beam (O  Continuous beam
(D)  Three hinged arches (E) Questionnotattempted
Pt § S o S 9 4 Fruifd S ?
A) = femt gon HEE @) W Heefarsm © s
D) @ e o Hew™ ) SERE ¥
71.  Which of the following breed of sheep from Ra]asthan is also known as 'Desi Breed'?
(A) Magra (B) Chekla (© Pugal
(D) Malpuri "Quiestion notattempted
TS | forfafea & @ fea g = %ﬁrm’%wﬁ oft ST S & 2
(A) ®) © T
(O) wwegd ® wﬁﬂw
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72.  Inwhich of the following year Chittor witnessed first sakas of history ?
ﬁmﬁﬁmaﬁﬁﬁ?ﬁgﬁsﬁmmmwgw?
(&) 1430 B 1295 © 1520
(D) 1303 ()  Question notattempted/ ST T
73.  During 1857 revolt how long did the administrationiof Kota remain under the control of rebels ?
(A) 14 Months (B) 3 Months (© 9Months
(D) 6 Months . ()  Question not attempted
18$?#ﬁﬂt%ﬁmﬁawmmﬁwa¢ﬁﬁﬁﬁ%w1¥@?
A) 14 R ®B). 3w © 9w
D) 6w €) St e
74 Sub-Tropical Mountain forest in Rajasthan is foundin________region.
(A) Pali : (B) Jaisalmer © Mount Abu
(D)  Jodhpur : (E)  Question notattempted
TSI ¥ 39-Iwrehfesieia veldrg &5 H 9T 9 ¥ '
(&) et B) SR © HReHE
D) SR ()  iufa ve
75.  Of the total number of members of alegislative council, are elected by the members of local bodies in
the state like municipalities, district boards etc.
Taer ofeR & g e A @ T4 H vt fremrl SR R e, frem sef ot % v g
I I ¥ |
@A) 1/12 B 1/2_ = ©O 1/3
O) 1/5 (B)  Question notattempted / START T
76.  If a cantilever beam carries a u.d.1 over its entire span; then shape of shear force diagram and bending moment
diagram respectively are : &, °
(A)  Rectangle and triangle (B) - -Triangle and quadratic parabola
(©  Triangle and cubic parabola (D) ~“Quadratic parabola and cubic parabola
(E)  Question notattempted »
A T ShieeiteR s 37 R R R 0 g < U ae g, T S S ST e T etk Af Bz arvg
1 SR BT R : '
A) ITa SR P B e iR agsRi e
© s SR e D) =TT Reer iR o7 Waer
(E) Sgaia s
77.  For testing compressive strength of cement, the size of the cube used is :
(A) 100 mm B) 50mm- : © 70.6mm
D) 150 mm (E)  Question notattempted
I Bt ST WfRT i The w3 AT, e o TR .
@) 100 fift _ '(B) 50 faeit. © 706 fait
@) 150 firft (B)  STgaRa ye
78.  Closed contours of decreasing values towards their centre, represent :
(A) Ariverbed B A hlll (©  Adepression
(D) Asadleor pass (E) Question notattempted
39 g i AR 2 A o1t sik ey Y 39t &
&) T B) T Tt © TR
(D) T FE A E) TG T
W G-161 14
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80.

81.

82.

83.

85.

The best irrigation method that suits area where scarcity of irrigation water is:

(A)  checkflooding (B) sprinkler irrigation (©  dripirrigation
(D) furrow irrigation (E)  Questionnotattempted '

fi=e & T T T AR A5 for ey st R fafu ¥

® ARG ®) former i © feufirmd
@ ® oA

Which mode allows the user to draw 90° straight line mAuto -CAD?

() Osnap B) Ortho _ .= (© Polar tracking

(D) Linear (E) Questionnotattempted

FH 1 HiE IR F AA-HC (Auto - CAD)ﬁgb‘”iﬁeﬁm@mﬁwﬁim%’

@A) e ®) i . © e

o o i

Choose the correct sequence of requirements :

e HE 9 ¢

(A) GIR<FIR <NIR>CIR B GIR>FIR>NIR>CIR (© CIR>GIR>FIR>NIR
(D) FIR>GIR>NIR>CIR (E) Questionnotattempted/ STARA 9

The maximum shear stress (t,,,, ) for a soil mass is equal to :

gt & g & fog sifusan swaw T (1, )ﬁ'ﬂr%w%:

@A) (03—07)/2 B) (07— 03)25 : © (01+03)/2
D) (ogx03)/2 ®) Queshonnoi - attempted / STTARA T

A shaft turns at 150 rpm under a torque of 1500 Nm. Power transmitted is :
T I 1500 Nm ¥ e & @&d 150 rpm T R | mw%

@A) 5mkW B) E © 157kW
O) 107kW ®) Questlon nvtattempted / SRR FH

For an intermediate span AB of a continuous beam subjected to an external load system, what would be the
momentat A (M,) due to difference of level '3' between A and B ? Calculate using slope - deflection method.

T Taq ot & wead B AB W Al ¥Ryl & S, AW (M) Hrife &1 7 A 3B & e W o SR '3’
¥ o7 T SN 2 59 Soi-feveR faf w1 STERT e T Y |

6EId 4EId 8EId
@ 2 ® 72 © 2
3EIS o
D) 2 () Question not attempted /TR T
The design bond stress for plain bars in compression as eompared to plain bars in tension is :
(A)  25% less (B) 60% more-——= © 60% less
(D)  25% more () Questionnotattempted '
mﬁmmﬁwﬁmﬁqﬁqzm@%m%amamm%
(A) 25% FH ®)  60% 3~ © 60% FH
D) 25% AfereR () STIaRd 9
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86.  Which of the following saint is associated with the fair organised on “Bhadrapad Shukla Saptmi”?

(&) GogaJi ® Tejaji (©) Mallinath Ji
(D) Devnarayan Ji (B)  Question notattempted
ﬁwﬁf@aﬁﬂmﬁaaﬂﬁq“wmmgmmﬁﬁ@%aﬁﬁéﬁ%?

(&) TS ®) TS ©  woere S

87.  During the excavation of which of the following pre.-hlstonc site abundance of copper implements and a needje
with an eye is an important discovery ? LY S
(A) Ganeshwar (B) Ahar (© Bagor
(D) Banas (E) Questionnot attempted

ﬁwﬁr@aﬁﬂﬁa%mﬁ@%%mwﬁﬁ%aﬂmmwgmﬁalﬁﬁﬂ?mﬂﬁﬁ
EUSRC b U RE R )

(A) TOvER ® S © SRR
D) ™ A ® sHafayE

88. is the most productive soil found in Eastern Rajasthan.
Choose the most appropriate answer from the ophpns given below.
(A) Redand Loomy ®B) Black™ © Sandy
D) Jalod (E) Que:sgon not attempted
\@wﬁmmwmmmﬁ@%n
A Ry el 3§ v o s
@) e S ® Fwf © el
@) R ®  orERa T

89.  Urmila Sagar Dam is constructed on which of the following rivers ?
(A) Sohadra (B)  Takli (© Parbati
(D) Khari - (B Questionnot attempted
Sfifen wrR sy Frefafed 3 ) fra T8 o s T a2
(A)  HrEmE ®) e © Ed
©) @ . )  STIRa T

90.  Which of the following city did Maharaja Surajmal setup in Rajasthan ?
(A)  Jaipur (B)  Bharatpur © Dholpur
(D) Kota (E)  Question notattempted
ﬁqﬁa@aﬁﬁﬁmwmmﬁmﬁwﬁam a1 ?
(8) IR ®) R © ¥R
O = () R

91.  Usually a canal filling is provided with a side slo:iﬁagdzf :
AR T TS Tl F e 3 1 B ToR § w0 S s
Q) 2:1 B) 1:1 © 125:1

O 15:1 (E)  Question not attempted / ST7xRa w1
W G-161 L
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92,  The uniformity coefficient of a soil is :‘
(A) Theratio of Dyjand Dgysize (B)  The ratio of Dy and D, size

2
D30

(©  Theratio of Dy, and D,ysize (D) Theratio of (E)  Question notattempted

7 DsoDw

g} <hT TET Ui -
(A) Dsy 3R Dy, AR @ (B)

© Dg IRDy TFRF SR (D) (E) TaRa I

93.  Thesum of the interior angles of a closed traverse haviﬁ;gi\fnumber of sides is equal to :
N H&H1 9Tt YTt At Uk &g 9o 3 377 FHI0 i N7 SR Bl ¢ :
A (N-4)x180° B) (N—2)x180° © (N—-1)x180°
O) (2N-1)x180° () Question notattempted,/ 3TITRT F&

94. Inordinary residential and public buildings, the D.P.C. is generally provided at:
(A) Midway between ground level and water table level
(B)  Ground level
(© Plinthlevel
(D)  Water table level , W
(B)  Question notattempted -

A) Waﬁvﬂaw%#}aﬁ

®
© TEawR :
(D) Sl &R = EE |
() ATARAIH
95. Lateral ties in RC columns are provided to resist :
(A) Both bending moment and shear force (B) Bending moment
(© ' Shear force (D) Buckling of longitudinal steel bars

E) Question notattempted
S (RC)wﬁmséwmﬁmm%mmmm%

A) ST STTEIULEA S (B)  Siehd STTEUl A1
EC; mﬂ%m, (D)‘“‘*sﬂé%ﬁ@aarza:aaﬁnm
€  orgafE g -
96.  Rate of consolidation : :
(A)  isunaffected by permeability of soil. B ‘lncreases with decrease in temperature.
(©  increases with increase in temperature. ('D) wIS independent on temperature.
(B)  Question notattempted . %
T
@) T =t o @ stgfad B € (B) T9HH H wHl % Wiy gfg B 7
© M ¥ gfig & W g adt € (D) M § ST =t €|
E) orgara g
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97.  For abeam of uniform rectangular section, used as simply supported beam, followingstatement3 &%= mede

(@)  bending stress at neutral axis is maximum_
(b)  bending stress at top and bottom edges are maximum.
()  shear stress is maximum at top and bottom edges.
(d)  shear stress is maximum at neutral axis.
Which of the above statements are correct ? =
(&)  (b)and(c) ®) (@and(e)- @ ®and
D) (a)and(d) ()  Question riot attempted

?Wmm%ﬂh%mﬁwmmw&aw#mﬁmW% frfafad wod Ry

(@) T Y QHAHA TS Afrehay By $) L

b) I R e R WS T rfmaw A

©  3TTETn e U 3iR Freet fRRY 1 st B ¥
(d) TR N R ATEq Yot stferemay dam

IR H ¥ B T HYT WG R ?
@ ®)RE ® @ HRE © ®OFD
O (2) ¥R (@) )  HHRE T
98.  The type of floor in which marble chips are used is :
(A) terrazofloor (B)  marblefloor (O  mosaic floor
(D) cementfloor (E)  Questiorinot attempted
msfwaammﬁwmw%ﬁwmmnmsm%
(A) T wAR ® wEWRHE® - (©Q Aeewd
O e ® oA

99.  Arithmetic checks for rise and fall method during a lévelling operation are applied on:
(A)  Backsights, intermediate sights and fore sights=—-
(B)  Fore sights and back sights only.
(©  Backsights and intermediate sights only.
(D)  Backsights only.
(B)  Questionnotattempted
Safern SfoEH % S gfs 3R frrae fafy & fag siwforda site o =t s
(A) WS F I, HeAG ¥4 IR 3 F g9 & faw)
(B) I T F T IR IS & 3 F ferw)
© Foa 1S F 7w IR wemedl g & faw |
D) g 1 % g e & faw)
) ST

100. Ifa dolomite mineral contains only Magnesium Carbonateand Calcium Carbonate then what could be
composition of these in the minerals ?

aﬁm@ﬁamﬂﬁwmaﬁmwﬁmwﬁm% @ T s

approximate

T T
B ? s g
9 9 46% CaCO,54%
(A) MgCO;48%, CaCO, 52% B MgCO, ’ ©  Mgco, 50 c o
(D) MgCO;54%, CaCO;46% (E)  Question notattempted / 3TTTRT w7 °,CaCO,50%
¥ G-161 18
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101.

102.

103.

104.

105.

The Governor can remove the State Chief Information Commissioner under the following circumstances :

(@ Ifheisadjudged an insolvent.

(b) Ifheengages inany paid employment outside the duties of his office during his term in office.

()  Ifhehasacquired such financial or other interests as is likely to affect prejudicially his office functions.
(d) Ifheis (in the opinion of the Governor) unfit; Io continue in office due to infirmity of mind or body.
Choose the most appropriate answer from the opﬁons given below.

@) @, b)) () B) (a)/ () (d)only © (a) (b) ()only

D)  (b),(c),(d)only ®) QhESﬁon notattempted _

vt e aRfefrl § To0 TS G SEE H T Fohd € -

@) Ok ¥ fafern Sifim R ST EL £ 5
() ﬁémm%ﬁmmm%m%wwsﬁwmﬁﬁﬂﬁwsﬁ%u

© Itk e Q@ fardr o e afda o o €, R sw e el R Sfodher 9 S B ST |
@ AR (TS W T ) qAiEs o R geel % w0 98 WS W o g aE )

= fr g foredl &  wEd SugEd ST | ‘

@  (a), b)), (d) B 9 (), (0), (d) © %9 (a), (b, ()

(D) (), () (d) €  STTaRd W

Which of the following crop is known to grow in larger area in Rajasthan (as per area estimate of principal crops
2020-21) ? L

(A) Rice (B) Linseed (© Sugarcane

(D) Tur E) Qf@s?mn notattempted

frrafefaa § ¥ # v T § o2 & § T % fg ST S € (e e % & SIAT 2020-21°F
SFER) ? "

(Aa) e ®) THL © T

D) X ® oW

Smt. Lakshmi Kumari Chundawat of Rajasthan' reeelved Padma Shri in which of the following field ?
(A) Trade and Industry : (B)  Social Work (© Civil Service

(D) Literature and Education (E) Questionnotattempted

TSTE W ot wiedt FAN Feraa i Fafarad § & g & 4 g firen 2

(A) SR SR I (B) WIS © fafaa dan

(D) e iR faan (B) SATARATH

In Rajasthan putting a gold nail between the teeth is known as :

(A) Damna (B)  Choonp (© Borla

(D) Hamel (E) Qﬁé§hon not attempted
Wﬁﬂ?ﬁ‘éﬁaﬁa‘éﬁﬁaﬁﬂwﬁaﬁwmﬂ%?

(&) T ® T © SRem

@) () ST S |

Who among the following was sent to the Maha:raia Pratap's court in III (third) group to force him accept his
sovereignty ?

(A) Jalal Khan (B) Manﬁngh - (© Bhagwandas

(D) Todarmal (E) Question notattempted

frefafea § @ ford gl Tg | 9eRION Tard & SR H ASThT STeh! T TR i % fore seg fear 7140 o1 2
(A) A @H ® wr e © HWEMRE

O =T (B) STguRa
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. . . ioused is:
106. Bleeding channels in concrete remain continuous if the water-cement ratio

1to 0.7
(A) Notaffected by water-cement ratio (B) More than 0.7 © Bquatto
(D) Less than 0.7 (E) Questionnot attempted
e 3 i e P 4 T ¥, R vy e o L STE
(A)  TA-HIHE U Y STy ~4B). 07 @ Afw © o
D) 079%H @ TR Fe
107. A doubly reinforced beam has the following s_ggtmnal parameters :
Width =b, Overall depth=D
Effective cover to tension reinforcement = d, , -
Effective cover to compression remforcement d
Determine the effective depth of above beam. =~
T Y yeferd s\ § Frefafaa suni e em -
HIgE = b, FA TE=D
T GG oheon ok e yorrelt sher=d),
T G o foaq gt HeR=d_
TR A T T Freia w5
1
@ D= (de+de) ® D-d, © D-d
O) D-—(di+d) E) g—_gﬁ%sﬁon not attempted / STFART T
108. According to Lacey's theory, the bed slope i 1sglven by:
i % fagia & ER, wwmmwﬁ%w%
i Q6 ® a0 Q_%- Qw0 o/
P/ |
D) —1/ (E)  Question not attempted / AIRT G971
3340 Q/©
109. Match List I (Equipment) with List II (use) and select the correct answer using code given below the lists.
ListI List IT
(a) Hl}s,dmmeter (i)  Determination of shear parameter
(b)  Plateload testset up (i) Determination of specific gravity
(©)  Pycnometer (iii) - Determination of bearing capacity of soils .
(d)  Directshear test apparatus (iv) ~Grainsize distribution tests for clays
et 1 (ST 1 g 11 (STE) %mamwm%ﬁmmmmwme@.
T =t
@) g‘g@ﬁ[‘a (i) = STqEqu) e @ fryfo
b) R S T ¥ o (i) e et w1 frufo
(© Taerr (iii) fHEY = =& &mar o fuioy
(d)  IHE I T ST (iv) ﬁ@%ﬁmm(z}a) TR FreRor qdteqoy
(i), (b)-(ii), ()-(ii), (d)-(i) B)  (a)-(i), (b)-(iii), (c)-(iv), (d)-(i)
Eé)) E:;-(iv), (b)-(i) , (c)-(i), (d)-(Gii) D) (@), (B)-(1), (©)-(iv), (d)~(ii)
) Question not avttempted/ AR I
20
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110. The number of points of contraflexure in a simply supported beam ( no overhang ) subjected to uniformly distributed

load is :

T &9 faafa ar ¥ areiie T et wafda s (P elawdn ) A shererar & fagal @ den ®
A 3 ® 0 O 1

D) 2 (E)  Question not attempted / 3TTTRA F¥

111. Inacompaction testif the compacting effort is increased, it will result in :
(A)  no change in maximum dry density but decreasecm OMC.
(B)  increase in maximum dry density and OMC."
(O) increase in maximum dry density but OMC remams unchanged.
(D) increase in maximum dry density and decreasé“in OMC.
(E) Question notattempted
e Teror § afk G YA e S R, a‘rsﬂa%rmnm
(A) otftad o6 S H g i T Afeht OMCH |
@) fean P&k T T OMC # 9f5 1
© sifteran gk T § g wfeRd OMC sraftafiia @it |
() 3ifeehad I T | gig a1 OMC # %41

() IIaia ¥
112. Quartziteisa:
(A) Calcareous Rock (B) Metamorphic Rock (©  Argillaceous Rock
(D) Siliceous Rock (B Questlon not attempted
(A) FerhiEE wgH (B) waﬁa’agn © efiafrEs wgm
©) fafafeaa wgm B ST
113. In paints, naphtha and turpentine areused as: -
(A)  Extender (B) Base (© Solvent
(D) Binder . (B) Queshon:not attempted
Ye H, o aﬂtﬁmwmwmmsrm%_:;
) fowrs (B) STHR © facmm=s
D) ¥R B) STgARd T
114. The size of bearing plate, which is used in plate load test varies from :
(A) 200 to 275 mm (B) 300 to 750 mm (©  25t0100 mm
(D) 100 to 200 mm (E) Questionnotattempted
T wire Tierr § IW H S o 9afar @i # SR T YR fim g g
(A) 200 ¥ 275 TRt B 300 9§ 750 faeit © 25§ 100 faedt
(D) 100 & 200 foredt () Agaf I

115. A bubble tube with divisions of 2 mm and a radius of Im has the sensitivity of :
2 Tt & faaem &fiw ﬁaaﬁﬁwmﬁqu@ﬁ@ﬁsﬁﬁm%

@b = radlans/m_'l (B) © 5—(1)0— radians/ &g

D) -~ radians/Xfe (E)  Question not attempted / SIRRA T
50
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116. Which of the following is the width of Rajasthan from East to West ?

]

© 89 km
(4) 826km ®  £39km
(D) 869km (E) Questionnot attempted
T gd § oftem ser frfofed § @ e §2
o o0t
(A) 826 Tt ® 83 fepett
(D) 869 Tt ® gaRa v |
117. The works which throw light on the achjevé;'é;fts and incidents of a particular individual and dynasty are
called :
(A) Sakhi B) Marasya (© Prakas
(D) Raso (E) Question not attempted
& Ty < feelt s i ot o 9 St s seel R ST S &, e € i
(A) wwEt ® T © TR
O T B) FaRa Fe
118. The famous Badal Mahal built using parera stone is located on the banks of which of the following lakes ?
(A) Dhebar Lake (B) Anasagar Lake (© Gaibsagar Lake
(D)  Pushkar Lake (E) Quegtion not attempted
mwaﬁmmwmmgﬁ{mw%wm%?
() TR (B) TR © TR i
O) TR (€) SFEoRa v
119. Which of the following regions of Rajasthan 1sil<30wn to have drought once in three years ?
(A) Bholpur (B) Jodhpur © Kota
(D)  Bharatpur (E) Question not attempted
e 1 Frafafaa # | 99 91 89 79 99 # T IR §@ % fag s s & 2
(&) HER (B) IR © W
(D) ¥EY B) TR T
120. According to Rajasthan Public Service Guarantee Act-2011, what is the time limit for verification of passport by
Home (Police) Department ?
(A)  30days (B)  15days ©  20days
(D) 25days (B)  Questionnotattempted
ST e el M SAUTEE-2011 3 ST & () T 50 It Seare 6t wwe i g 2
@) 30fw ® 15 © 20w
O) 25 (B) ITFERa T
ﬁv— o O0o-
U G-161 22


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


{"type":"Imported Receipt","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



